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GEMERATOR

GCSES

1) 4 lg 2)  Convert the following improper 3) Find area of
81 fraction 3%/ + 6% into amixed b rectangle having
number sidesa=92in
a andb=9in
Answer: Answer: Answer:
4) 5 1% Mo 6) >/
/ o7 15
A B=49
Find the Angle at side A.
Answer: Answer: Answer:
7) 1375+ 13/ 8) 2070+ 29, 9  07:41amTo010:24am
Answer: Answer: Answer:
10) Find area of square 11) Solve by factorising 12) Solveby factorising
having each side (s) > +8q+12=0 g2 +8q+12=0
s equals 18 ft
s
Answer: Answer: Answer:
13)  Findthemean of thefollowing set of datax 14) Round 12.90 to 1 significant figures. 15) Convert the following mixed number
0.2,2,10,11 87/ into an improper fraction.
Answer: Answer: Answer:
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16) Find the mode of the following set of data: 17) (_72) - (_9) 18) 9+61
42,42,42,42,42,2,2,2,2, 2,48,
48, 48, 48, 48
Answer: Answer: Answer:
19) (-30) +~ 15 20) 30+6 21)  What would you multiply by to
decrease an amount by 49%?
Answer: Answer: Answer:

22) 46% of 50

23) Anamount wasincreased by 5.3% to
$498.00. Find the original amount.

24)  Anamount was increased by 5.3% to
$498.00. Find the original amount.

Answer: Answer: Answer:
25) Anamount was increased by 5.3% to 26) 27) 89+9
$498.00. Find the original amount. 14 J Find Volume of Cone
S —
12
Answer: Answer: Answer:
28) Find the mode of the following set of data: 29) 30) A number was shared in the ratio
4, 4,18, 18, 18, 18, 18, 18, 27, 27, Find the next three numbersin 10:16. The smaller share was 25.
19, 19, 19, 19, 31, 31, 31, 36, 36, the sequence What was the larger amount?
36, 36, 36, 36, 36 32,30,120,118,472,470,1880 _, ,
Answer: Answer: Answer:
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31) 1, 0f 240 32) 62.3+17.8 33) m7 / ml8
m9
Answer: Answer: Answer:
34) 24 x 100 35) 150 + (-15) 36) Round 19.058 to 2 significant figures.
Answer: Answer: Answer:
37) 716« 714 38) Yg+21, 39) 16+1
Answer: Answer: Answer:
40) Find the mean of the following set of data: 41) Write 1000000 in standard form. 42) Find the median of the following set of data:
0.8,14,6 16, 18, 6, 20, 28, 6, 38, 5, 21
Answer: Answer: Answer:
43) g -2, 44) 49-26 45) Find area of
. . triangle s = 47 ft
s
Answer: Answer: Answer:
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46) 100+ 10 47)  Round 7.396543 to 3 decimal places. 48) Find area of
b rectangle having
sidesa= 100 ft
a and b =98t
Answer: Answer: Answer:
49) 1 6g-2 1, 50) (3x53) x (9x 79 51) Find perimeter of
b rectangle having
sidesa=91ft
a and b =286t
Answer: Answer: Answer:
52) Find area of square 53)  What would you multiply by to 54)  What would you multiply by to
having each side (s) decrease an amount by 39%? decrease an amount by 39%?
s equals 19 ft
s
Answer: Answer: Answer:
55) 14-11 56) 14-11 57) A number was shared in theratio
1:10. The smaller share was 24.
What was the larger amount?
Answer: Answer: Answer:
58) 181, -84 59) 29.3+62.2 60) Convert the following mixed number
871, into an improper fraction.
Answer: Answer: Answer:
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61) Simplify 18:19 62) 34.8- 60 63) 102-19-7
Answer: Answer: Answer:
64) 65) 66)
Find Volume of Find Volume of Find Volume of
Square Pyramid Pentagonal Pyramid Pentagonal Pyramid
14 14
Answer: Answer: Answer:
67) 800 + 100 68) Find area of square 69) Anamount was decreased by 7% to
having each side (s) $152.00. Find the original amount.
s equals 75 ft
s
Answer: Answer: Answer:
70) Solve4d?-19d+17=0 71)  Simplify 16:1 72) 455 x 12
Round your solutionsto 1 decimal
place.
Answer: Answer: Answer:
73) Convert the following fraction into a 74)  Findthemean of thefollowing set of data: 75) 01:04 am To 03:01 am
mixed number: 147, 17,11,5,02
Answer: Answer: Answer:
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76) Find perimeter of 77) Find the median of the following set of data: 78) 20/10 _ 15/12

a p triangle 30, 32, 26, 35, 21, 21, 2, 25, 35, 20
h=16,a=65in,
. b=97in,c=99in
Answer: Answer: Answer:
79) 80)  52.7-516 81) 32+ (-34)

Find VVolume of
Rectangular Pyramid

Answer: Answer: Answer:
82) 19,14, 83) 7000+ 1000 84) Solvels?+18s+13=0
Round your solutionsto 1 decimal
place.
Answer: Answer: Answer:

85) Increase 75 by Y g

86) Solvel7x2-1x-15=0
Round your solutions to 1 decimal

87) 5 9,5-6 84

place.
Answer: Answer: Answer:
88) 18y4- 131, 89) w1, 90) Convert the following fraction into a
mixed number: 9/,
Answer: Answer: Answer:

Copyright 2020 - Geek School Tutoring Limited

http://www.geekschool.co.uk



http://www.geekschool.co.uk

Name:

December 10, 2020

Sr: 10122020-1849

MATHS WORKSHEET [ é.t%”s@

ERATOR

GCSES

91) A number was shared in theratio

was the larger amount?

Answer:

1:2. The smaller share was 35. What

92) g+

Answer:

93) Yy + 4,

Answer:

94) Factorise g2 + 7q + 10

95)  Write 40000 in standard form.

96)  Write 40000 in standard form.

Answer: Answer: Answer:
97)  Write 40000 in standard form. 98) Write 7 x 107 asanormal number. 99) 1275+ 71,
Answer: Answer: Answer:

100 Z,+17,

Answer:

Total: /100
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)9
8) 4%,

15) 9y

22) 23

29) 1878,7512,7510,
36) 19

43) 17/55

50) 136193423625
57) 240

64) 914.66666666667
71)16:1

78) 3,

85) 78
2,

92) 12/,
1

99) 9,

2) 10%/,¢

9) 02 Hours 43 Mins
16) 42

23) $472.93

30) 40

37) 730

44) 23

51) 354ft

58) "log

65) 2248.0904701029
72) 6%/,

79) 640

86) x =1or-0.9
2
93) 144
1
100) 9/,
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Answers:

3) 828in
10) 324ft

17)8

24) $472.93

31)15

38) 2Yg

45) 956.52505847991ft
52) 361ft

59) 91.5

66) 2248.0904701029
737

80) 1.1

87) 189,
94) (a+2)(@+9)

4131

GEMERA i

5) 1py

11)g=-20r-6 12)g=-2o0r-6

18) 70
25) $472.93
32)35

39) 16

46) 10

53) 0.61
60) 39/,
67)8
74)83

81) -2

88) I/,
95) 4 x 104

19) -2

26) 527.78756580309
33) m16

40) 6.93

47) 7.397

54) 0.61

61) 18: 19

68) 5625t

75) 01 Hours 57 Mins

82) 2%,

89) ¥/,
96) 4 x 104

Sr: 10122020-1849
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6)3 7) 25714y
13)5.8 14) 10

20)5 21) 0.51

27) 98 28) 36

34) 2400 35) -10

41) 10x 10° 42) 28

48) 9800ft  49) 1%/,

55) 3 56) 3

62) -25.2 63) 74

69) $141.36  70)d=3.60r 1.2
76)26lin  77)21

83) 7 ??25 =-0.80r-
90) 24, 91) 70

97) 4x 104  98) 70000000
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